

# New Integral Inequalities via Harmonically Convex Functions

Imdat Iscan<sup>1,\*</sup>, Mustafa Aydin<sup>2</sup>, Sema Dikmenoglu<sup>3</sup>

<sup>1</sup>Department of Mathematics, Faculty of Arts and Sciences, Giresun University, Giresun, Turkey

<sup>2</sup>Department of Finance-Banking and Insurance, Alucra Turan Barutcu Vocational School, Giresun University, Alucra-Giresun, Turkey

<sup>3</sup>Department of Mathematics, Faculty of Sciences, Karadeniz Technical University, Trabzon, Turkey

\*Corresponding Author: imdati@yahoo.com

Copyright ©2015 by authors, all rights reserved. Authors agree that this article remains permanently open access under the terms of the Creative Commons Attribution License 4.0 International License

**Abstract** In this paper, we establish some estimates, involving the Euler Beta function and the Hypergeometric function of the integral  $\int_a^b (x-a)^p (b-x)^q f(x) dx$  for the class of functions whose certain powers of the absolute value are harmonically convex.

**Keywords** Harmonically Convex Function, Integral Inequality, Hypergeometric Function, Beta Function

**2000 Mathematics Subject Classification** Primary 26D15; Secondary 26A51

## 1 Introduction

Let  $I$  be a real interval in  $\mathbb{R} \setminus \{0\}$ . A function  $f : I \rightarrow \mathbb{R}$  is said to be harmonically convex, if

$$f\left(\frac{xy}{tx + (1-t)y}\right) \leq tf(y) + (1-t)f(x) \tag{1.1}$$

for all  $x, y \in I$  and  $t \in [0, 1]$ . If the inequality in (1.1) is reversed, then  $f$  is said to be harmonically concave (see [2]). In recent years many authors established new integral inequalities related to harmonically convex functions. For recent results, refinements, counterparts, generalizations, and new integral inequalities, see [1, 3, 4, 5, 6, 7, 11, 13, 15] and plenty of references therein.

The generalized quadrature formula of Gauss-Jacobi type has the form

$$\int_a^b (x-a)^p (b-x)^q f(x) dx = \sum_{k=0}^m B_{m,k} f(\gamma_k) + \mathfrak{R}_m[f] \tag{1.2}$$

for certain  $B_{m,k}$ ,  $\gamma_k$  and rest term  $\mathfrak{R}_m[f]$  (see [14]).

In [9, 10] and [12], the authors established several new integral inequalities concerning the left-hand side of (1.2) via several kinds of convexity.

We recall the following special functions which are known as Beta function and hypergeometric function respectively

$$\beta(x, y) = \frac{\Gamma(x)\Gamma(y)}{\Gamma(x+y)} = \int_0^1 t^{x-1} (1-t)^{y-1} dt, \quad x, y > 0,$$

$${}_2F_1(a, b; c; z) = \frac{1}{\beta(b, c-b)} \int_0^1 t^{b-1} (1-t)^{c-b-1} (1-zt)^{-a} dt, \\ c > b > 0, |z| < 1 \text{ (see [8]).}$$

The aim of this paper is to establish some new integral inequalities  $\int_a^b (x-a)^p (b-x)^q f(x) dx$  for the class of functions whose certain powers of the absolute value are harmonically convex..

## 2 Main results

For finding some new integral inequalities related to harmonically convex functions, we need a simple lemma below.

**Lemma 1.** *If  $f : [a, b] \subseteq (0, \infty) \rightarrow \mathbb{R}$  is a function such that  $f \in L[a, b]$ , then the following equality holds for some fixed  $p, q > 0$ .*

$$\begin{aligned} & \int_a^b (x-a)^p (b-x)^q f(x) dx \\ &= a^{p+1} b^{q+1} (b-a)^{p+q+1} \int_0^1 \frac{t^p (1-t)^q}{A_t^{p+q+2}} f\left(\frac{ab}{A_t}\right) dt, \end{aligned} \tag{2.1}$$

where  $A_t = ta + (1-t)b$ . Specially, if  $p = q$ , then we have

$$\begin{aligned} & \int_a^b (x-a)^p (b-x)^p f(x) dx \\ &= (ab)^{p+1} (b-a)^{2p+1} \int_0^1 \frac{t^p (1-t)^p}{A_t^{2p+2}} f\left(\frac{ab}{A_t}\right) dt. \end{aligned}$$

*Proof.* Desired result is readily obtained by changing the variable. ■

**Theorem 1.** *Let  $f : [a, b] \subseteq (0, \infty) \rightarrow \mathbb{R}$  be a function such that  $f \in L[a, b]$ . If  $f$  is harmonically convex on  $[a, b]$  and  $p, q > 0$ , then*

$$\begin{aligned} & \int_a^b (x-a)^p (b-x)^q f(x) dx \\ & \leq \left(\frac{a}{b}\right)^{p+1} (b-a)^{p+q+1} \left[ f(a) \beta(p+1, q+2) \cdot {}_2F_1(p+q+2, p+1; p+q+3; 1-\frac{a}{b}) \right. \\ & \quad \left. + f(b) \beta(p+2, q+1) \cdot {}_2F_1(p+q+2, p+2; p+q+3; 1-\frac{a}{b}) \right]. \end{aligned} \tag{2.2}$$

*Proof.* Let  $A_t = ta + (1-t)b$ . Since  $f$  is harmonically convex on  $[a, b]$ , then for all  $t \in [0, 1]$ , we have

$$f\left(\frac{ab}{A_t}\right) \leq tf(b) + (1-t)f(a).$$

Using Lemma 1, we have

$$\begin{aligned} & \int_a^b (x-a)^p (b-x)^q f(x) dx \\ & \leq a^{p+1} b^{q+1} (b-a)^{p+q+1} \int_0^1 \frac{t^p (1-t)^q}{A_t^{p+q+2}} [tf(b) + (1-t)f(a)] dt \\ & = a^{p+1} b^{q+1} (b-a)^{p+q+1} \left[ f(a) \int_0^1 \frac{t^p (1-t)^{q+1}}{A_t^{p+q+2}} dt + f(b) \int_0^1 \frac{t^{p+1} (1-t)^q}{A_t^{p+q+2}} dt \right], \end{aligned}$$

where an easy calculation gives

$$\begin{aligned} & \int_0^1 \frac{t^p (1-t)^{q+1}}{A_t^{p+q+2}} dt \\ & = \frac{\beta(p+1, q+2)}{b^{p+q+2}} \cdot {}_2F_1(p+q+2, p+1; p+q+3; 1-\frac{a}{b}) \end{aligned} \tag{2.3}$$

and

$$\begin{aligned} & \int_0^1 \frac{t^{p+1} (1-t)^q}{A_t^{p+q+2}} dt \\ & = \frac{\beta(p+2, q+1)}{b^{p+q+2}} \cdot {}_2F_1(p+q+2, p+2; p+q+3; 1-\frac{a}{b}). \end{aligned} \tag{2.4}$$

Substituting equations (2.3) and (2.4) into the above inequality, we obtain the required result, which completes the proof. ■

**Remark 1.** In Theorem 1, if  $p = q$ , then (2.2) reduce to

$$\int_a^b (x - a)^p (b - x)^p f(x) dx \leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{2p+1} \beta(p + 1, p + 2) \left[ f(a) \cdot {}_2F_1(2p + 2, p + 1; 2p + 3; 1 - \frac{a}{b}) + f(b) \cdot {}_2F_1(2p + 2, p + 2; 2p + 3; 1 - \frac{a}{b}) \right].$$

**Theorem 2.** Let  $f : [a, b] \subseteq (0, \infty) \rightarrow \mathbb{R}$  be a function such that  $f \in L[a, b]$  and  $\lambda \geq 1$ . If  $|f|^\lambda$  is harmonically convex on  $[a, b]$  and  $p, q > 0$ , then

$$\int_a^b (x - a)^p (b - x)^q f(x) dx \tag{2.5} \leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{p+q+1} \left( \beta(p + 1, q + 2) \cdot {}_2F_1(p + q + 2, p + 1; p + q + 3; 1 - \frac{a}{b}) \right)^{1-1/\lambda} \times \left[ |f(a)|^\lambda \beta(p + 1, q + 2) \cdot {}_2F_1(p + q + 2, p + 1; p + q + 3; 1 - \frac{a}{b}) + |f(b)|^\lambda \beta(p + 2, q + 1) \cdot {}_2F_1(p + q + 2, p + 2; p + q + 3; 1 - \frac{a}{b}) \right]^{1/\lambda}.$$

*Proof.* Let  $A_t = ta + (1 - t)b$ . Since  $|f|^\lambda$  is harmonically convex on  $[a, b]$ , for all  $t \in [0, 1]$ , we have

$$\left| f\left(\frac{ab}{A_t}\right) \right|^\lambda \leq t |f(b)|^\lambda + (1 - t) |f(a)|^\lambda.$$

Using Lemma 1, by the power mean integral inequality we have

$$\begin{aligned} & \int_a^b (x - a)^p (b - x)^q f(x) dx \\ & \leq a^{p+1} b^{q+1} (b - a)^{p+q+1} \int_0^1 \frac{t^p (1 - t)^q}{A_t^{p+q+2}} \left| f\left(\frac{ab}{A_t}\right) \right| dt \\ & \leq a^{p+1} b^{q+1} (b - a)^{p+q+1} \left( \int_0^1 \frac{t^p (1 - t)^q}{A_t^{p+q+2}} dt \right)^{1-1/\lambda} \left( \int_0^1 \frac{t^p (1 - t)^q}{A_t^{p+q+2}} \left| f\left(\frac{ab}{A_t}\right) \right|^\lambda dt \right)^{1/\lambda} \\ & \leq a^{p+1} b^{q+1} (b - a)^{p+q+1} \left( \int_0^1 \frac{t^p (1 - t)^q}{A_t^{p+q+2}} dt \right)^{1-1/\lambda} \left( \int_0^1 \frac{t^p (1 - t)^q}{A_t^{p+q+2}} \left[ t |f(b)|^\lambda + (1 - t) |f(a)|^\lambda \right] dt \right)^{1/\lambda}, \\ & \leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{p+q+1} \left( \beta(p + 1, q + 1) \cdot {}_2F_1(p + q + 2, p + 1; p + q + 2; 1 - \frac{a}{b}) \right)^{1-1/\lambda} \\ & \quad \times \left[ |f(a)|^\lambda \beta(p + 1, q + 2) \cdot {}_2F_1(p + q + 2, p + 1; p + q + 3; 1 - \frac{a}{b}) + |f(b)|^\lambda \beta(p + 2, q + 1) \cdot {}_2F_1(p + q + 2, p + 2; p + q + 3; 1 - \frac{a}{b}) \right]^{1/\lambda}, \end{aligned}$$

which completes the proof. ■

**Remark 2.** In Theorem 2, if  $p = q$ , then (2.5) reduces to

$$\int_a^b (x - a)^p (b - x)^p f(x) dx \leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{2p+1} \beta(p + 1, p + 2) \left( {}_2F_1(2p + 2, p + 1; 2p + 2; 1 - \frac{a}{b}) \right)^{1-1/\lambda} \times \left[ |f(a)|^\lambda \cdot {}_2F_1(2p + 2, p + 1; 2p + 3; 1 - \frac{a}{b}) + |f(b)|^\lambda \cdot {}_2F_1(2p + 2, p + 2; 2p + 3; 1 - \frac{a}{b}) \right]^{1/\lambda}.$$

**Theorem 3.** Let  $f : [a, b] \subseteq (0, \infty) \rightarrow \mathbb{R}$  be a function such that  $f \in L[a, b]$  and  $\lambda > 1$ . If  $|f|^\lambda$  is harmonically convex on  $[a, b]$  and  $p, q > 0$ , then

$$\int_a^b (x - a)^p (b - x)^q f(x) dx \tag{2.6}$$

$$\leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{p+q+1} \beta^{1/\mu}(p\mu + 1, q\mu) \cdot {}_2F_1^{1/\mu} \left( (p + q + 2)\mu, p\mu + 1, (p + q)\mu + 1, 1 - \frac{a}{b} \right) \times \left( \frac{|f(a)|^\lambda + |f(b)|^\lambda}{2} \right)^{1/\lambda},$$

where  $1/\lambda + 1/\mu = 1$ .

*Proof.* Let  $A_t = ta + (1 - t)b$ . Using Lemma 1 and the harmonic convexity of  $|f|^\lambda$  by the Hölder integral inequality we have

$$\int_a^b (x - a)^p (b - x)^q f(x) dx$$

$$\leq a^{p+1} b^{q+1} (b - a)^{p+q+1} \int_0^1 \frac{t^p (1 - t)^q}{A_t^{p+q+2}} \left| f\left(\frac{ab}{A_t}\right) \right| dt$$

$$\leq a^{p+1} b^{q+1} (b - a)^{p+q+1} \left( \int_0^1 \frac{t^{p\mu} (1 - t)^{q\mu}}{A_t^{(p+q+2)\mu}} dt \right)^{1/\mu} \left( \int_0^1 \left| f\left(\frac{ab}{A_t}\right) \right|^\lambda dt \right)^{1/\lambda}$$

$$\leq a^{p+1} b^{q+1} (b - a)^{p+q+1} \left( \int_0^1 \frac{t^{p\mu} (1 - t)^{q\mu}}{A_t^{(p+q+2)\mu}} dt \right)^{1/\mu} \left( \int_0^1 [t |f(b)|^\lambda + (1 - t) |f(a)|^\lambda] dt \right)^{1/\lambda}$$

$$\leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{p+q+1} \beta^{1/\mu}(p\mu + 1, q\mu) \cdot {}_2F_1^{1/\mu} \left( (p + q + 2)\mu, p\mu + 1, (p + q)\mu + 1, 1 - \frac{a}{b} \right) \times \left( \frac{|f(a)|^\lambda + |f(b)|^\lambda}{2} \right)^{1/\lambda},$$

which completes the proof. ■

**Remark 3.** In Theorem 3, if  $p = q$ , then (2.6) reduces to

$$\int_a^b (x - a)^p (b - x)^p f(x) dx$$

$$\leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{2p+1} \beta^{1/\mu}(p\mu + 1, p\mu) \cdot {}_2F_1^{1/\mu} \left( (2p + 2)\mu, p\mu + 1, 2p\mu + 1, 1 - \frac{a}{b} \right) \times \left( \frac{|f(a)|^\lambda + |f(b)|^\lambda}{2} \right)^{1/\lambda}.$$

**Theorem 4.** Let  $f : [a, b] \subseteq (0, \infty) \rightarrow \mathbb{R}$  be a function such that  $f \in L[a, b]$  and  $\lambda > 1$ . If  $|f|^\lambda$  is harmonically convex on  $[a, b]$  and  $p, q > 0$ , then

$$\int_a^b (x - a)^p (b - x)^q f(x) dx \tag{2.7}$$

$$\leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{p+q+1} \beta^{1/\mu}(p\mu + 1, q\mu + 1) \cdot \left[ {}_2F_1 \left( (p + q + 2)\lambda, 1; 2; 1 - \frac{a}{b} \right) |f(a)|^\lambda \right. \\ \left. {}_2F_1 \left( (p + q + 2)\lambda, 2; 3; 1 - \frac{a}{b} \right) \frac{|f(b)|^\lambda}{2} \right]^{1/\lambda},$$

where  $1/\lambda + 1/\mu = 1$ .

*Proof.* Let  $A_t = ta + (1 - t)b$ . Using Lemma 1 and the harmonic convexity of  $|f|^\lambda$  by the Hölder integral inequality we have

$$\begin{aligned} & \int_a^b (x - a)^p (b - x)^q f(x) dx \\ & \leq a^{p+1} b^{q+1} (b - a)^{p+q+1} \int_0^1 \frac{t^p (1 - t)^q}{A_t^{p+q+2}} \left| f\left(\frac{ab}{A_t}\right) \right| dt \\ & \leq a^{p+1} b^{q+1} (b - a)^{p+q+1} \left( \int_0^1 t^{p\mu} (1 - t)^{q\mu} dt \right)^{1/\mu} \left( \int_0^1 \frac{1}{A_t^{(p+q+2)\lambda}} \left| f\left(\frac{ab}{A_t}\right) \right|^\lambda dt \right)^{1/\lambda} \\ & \leq a^{p+1} b^{q+1} (b - a)^{p+q+1} \beta^{1/\mu} (p\mu + 1, q\mu + 1) \left( \int_0^1 \frac{[t|f(b)|^\lambda + (1 - t)|f(a)|^\lambda]}{A_t^{(p+q+2)\lambda}} dt \right)^{1/\lambda} \\ & \leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{p+q+1} \beta^{1/\mu} (p\mu + 1, q\mu + 1) \cdot \left[ {}_2F_1\left((p + q + 2)\lambda, 1; 2; 1 - \frac{a}{b}\right) |f(a)|^\lambda \right. \\ & \quad \left. {}_2F_1\left((p + q + 2)\lambda, 2; 3; 1 - \frac{a}{b}\right) \frac{|f(b)|^\lambda}{2} \right]^{1/\lambda}, \end{aligned}$$

which completes the proof. ■

**Remark 4.** In Theorem 3, if  $p = q$ , then (2.6) reduces to

$$\begin{aligned} & \int_a^b (x - a)^p (b - x)^p f(x) dx \\ & \leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{2p+1} \beta^{1/\mu} (p\mu + 1, p\mu + 1) \cdot \left[ {}_2F_1\left((2p + 2)\lambda, 1; 2; 1 - \frac{a}{b}\right) |f(a)|^\lambda \right. \\ & \quad \left. {}_2F_1\left(2(p + 1)\lambda, 2; 3; 1 - \frac{a}{b}\right) \frac{|f(b)|^\lambda}{2} \right]^{1/\lambda}. \end{aligned}$$

**Theorem 5.** Let  $f : [a, b] \subseteq (0, \infty) \rightarrow \mathbb{R}$  be a function such that  $f \in L[a, b]$  and  $\lambda > 1$ . If  $|f|^\lambda$  is harmonically convex on  $[a, b]$  and  $p, q > 0$ , then

$$\begin{aligned} & \int_a^b (x - a)^p (b - x)^q f(x) dx \tag{2.8} \\ & \leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{p+q+1} \cdot {}_2F_1^{1/\mu}\left((p + q + 2)\mu, 1; 2; 1 - \frac{a}{b}\right) \\ & \quad \times \left[ \beta(p\lambda + 1, q\lambda + 2) |f(a)|^\lambda + \beta(p\lambda + 2, q\lambda + 1) |f(b)|^\lambda \right]^{1/\lambda}, \end{aligned}$$

where  $1/\lambda + 1/\mu = 1$ .

*Proof.* Let  $A_t = ta + (1 - t)b$ . Using Lemma 1 and the harmonic convexity of  $|f|^\lambda$  by the Hölder integral inequality we have

$$\begin{aligned} & \int_a^b (x - a)^p (b - x)^q f(x) dx \\ & \leq a^{p+1} b^{q+1} (b - a)^{p+q+1} \int_0^1 \frac{t^p (1 - t)^q}{A_t^{p+q+2}} \left| f\left(\frac{ab}{A_t}\right) \right| dt \\ & \leq a^{p+1} b^{q+1} (b - a)^{p+q+1} \left( \int_0^1 \frac{1}{A_t^{(p+q+2)\mu}} dt \right)^{1/\mu} \left( \int_0^1 t^{p\lambda} (1 - t)^{q\lambda} \left| f\left(\frac{ab}{A_t}\right) \right|^\lambda dt \right)^{1/\lambda} \\ & \leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{p+q+1} {}_2F_1^{1/\mu} \left( (p + q + 2)\mu, 1; 2; 1 - \frac{a}{b} \right) \\ & \quad \times \left( \int_0^1 t^{p\lambda} (1 - t)^{q\lambda} [t |f(b)|^\lambda + (1 - t) |f(a)|^\lambda] dt \right)^{1/\lambda} \\ & \leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{p+q+1} {}_2F_1^{1/\mu} \left( (p + q + 2)\mu, 1; 2; 1 - \frac{a}{b} \right) \\ & \quad \times \left[ \beta(p\lambda + 1, q\lambda + 2) |f(a)|^\lambda + \beta(p\lambda + 2, q\lambda + 1) |f(b)|^\lambda \right]^{1/\lambda}, \end{aligned}$$

which completes the proof. ■

**Remark 5.** In Theorem 3, if  $p = q$ , then (2.6) reduces to

$$\begin{aligned} & \int_a^b (x - a)^p (b - x)^p f(x) dx \\ & \leq \left(\frac{a}{b}\right)^{p+1} (b - a)^{2p+1} {}_2F_1^{1/\mu} \left( 2(p + 1)\mu, 1; 2; 1 - \frac{a}{b} \right) \\ & \quad \times \left[ \beta(p\lambda + 1, p\lambda + 2) |f(a)|^\lambda + \beta(p\lambda + 2, p\lambda + 1) |f(b)|^\lambda \right]^{1/\lambda}. \end{aligned}$$

### Conflict of Interests

The authors declare that there is no conflict of interests regarding the publication of this article.

### REFERENCES

- [1] F. Chen, S. Wu, Fejér and Hermite-Hadamard Type Inequalities for Harmonically Convex Functions, Journal of Applied Mathematics, Volume 2014 (2014), Article ID 386806, 6 pages
- [2] İ. İşcan, Hermite-Hadamard type inequalities for harmonically convex functions, Hacettepe Journal of Mathematics and Statistics, Volume 43 (6) (2014), 935-942.
- [3] İ. İşcan, Hermite-Hadamard and Simpson-like type inequalities for differentiable harmonically convex functions, Journal of Mathematics, Volume 2014 (2014), Article ID 346305, 10 pages.
- [4] İ. İşcan, Ostrowski type inequalities for harmonically s-convex functions, Konuralp journal of Mathematics, 3 (1) (2015), 63-74.
- [5] İ. İşcan, M. Kunt, Hermite-Hadamard-Fejer Type Inequalities for Harmonically s-convex Functions via Fractional Integrals, Australian Journal of Mathematical Analysis and Applications, 12(1) (2015), Article 10, 1-16.
- [6] İ. İşcan, S. Numan, Ostrowski type inequalities for harmonically quasi-convex functions, Electronic Journal of Mathematical Analysis and Applications, 2 (2) July 2014, pp. 189-198.
- [7] İ. İşcan, S. Wu, Hermite-Hadamard type inequalities for harmonically convex functions via fractional integrals, Applied Mathematics and Computation, 238 (2014) 237-244.
- [8] A. A. Kilbas, H. M. Srivastava, J. J. Trujillo, Theory and applications of fractional differential equations, Elsevier, Amsterdam (2006).
- [9] W. Liu, New integral inequalities involving beta function via P-convexity, Miskolc Mathematical Notes, 15 (2) (2014), 585-591.

- [10] W. Liu, New integral inequalities  $(\alpha, m)$ -convexity and quasi-convexity, Hacettepe Journal of Mathematics and Statistics, Volume 42 (3) (2013), 289-297.
- [11] M. V. Mihai, M. A. Noor, K. I. Noor, M. U. Awan, Some integral inequalities for harmonic  $h$ -convex functions involving hypergeometric functions, Applied Mathematics and Computation 252 (2015) 257–262.
- [12] M. E. Özdemir, E. Set, and M. Alomari, Integral inequalities via several kinds of convexity, Creat. Math. Inform., 20 (1) (2011), 62–73.
- [13] J. Park, Hermite-Hadamard-like Type Inequalities for Differentiable Harmonically Convex Functions, Applied Mathematical Sciences, 8 (99) (2014), 4905 - 4916.
- [14] D. D. Stancu, G. Coman, and P. Blaga, Analiză numerică și teoria aproximării, Vol. II, Cluj-Napoca: Presa Universitară Clujeană, 2002.
- [15] E. Set, İ. İşcan, F. Zehir, On some new inequalities of Hermite-Hadamard type involving harmonically convex functions via fractional integrals, Konuralp journal of Mathematics, 3 (1) (2015), 42-55.